Year 2 Spring 2 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section 4
A=2 B=3 C=5 Make the largest number A train leaves at 3
you can using the number o'clock and arrives
+ =12 cards. Use each card once. four hours later. What
A+B+C= time does it arrive?
5|7
i =12 BxC= 1
Section 5 Section 6 Section 7 Section 8
Draw one line of Underline the tens and If one pencil costs 8p, What unit of measurement
symmetry. circle the ones. how much would two would you use to measure the
pencils cost? height of a skyscraper?
45 87
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twinkl.co.uk

pppppppp

Quality Standar

.
.
Vs



Year 2 Spring 2 Maths Activity Mat 5 Answers

Section 1 Section 2 Section 3 Section &4
Both answers to A=2 B=3 C=5 Make the largest number A train leaves at 3
eaual 12 you can using the number o'clock and arrives
q ’ cards. Use each card once. four hours later. What
A+B+C=| 10 time does it arrive?
BxC=| 15 751 7 o'clock
Section 5 Section 6 Section 7 Section 8
Draw one line of Underline the tens and If one pencil costs 8p, What unit of measurement
symmetry. circle the ones. how much would two would you use to measure the
One line of pencils cost? height of a skyscraper?
symmetry 45 0,
drawn.
16p metres
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Year 2 Spring 2 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section 4
A=2,B=50C=10 Make the largest number A plane takes off at
you can using the number 1lam and arrives
+ =29 A+B+C= cards. Use each card once. four hours later. What
time does it arrive?
BxC= 3 (| 8
- =29
C+A= 7|2
Section 5 Section 6 Section 7 Section 8
Draw four lines of Underline the hundreds If one tennis ball costs What unit of measurement
symmetry. and circle the ones. 12p, how much would would you use to measure the
five tennis balls cost? length of a dog?
564 789
241
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Year 2 Spring 2 Maths Activity Mat 5 Answers

Four lines of
symmetry
drawn.

five tennis balls cost?

60p

Section 1 Section 2 Section 3 Section &
A=2,B=50C=10 Make the largest number A plane takes off at
Both answers to you can using the number 1lam and arrives
equal 29. A+B+C=| 17 cards. Use each card once. four hours later. What
time does it arrive?
BxC=| 50
C:A=| g 8732 3pm
Section 5 Section 6 Section 7 Section 8
Draw four lines of Underline the hundreds If one tennis ball costs What unit of measurement
symmetry. and circle the ones. 12p, how much would would you use to measure the

length of a dog?

centimetres
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Year 2 Spring 2 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section 4
A=10,B=4,C=5 Make the largest number A bus leaves at
+ = 45 you can using the number 11.30am. Its journey
B+B+C-= cards. Use each card once. takes 1 and + hours.
_ What time does it
i =45 BxC = 4 (| 8 arrive?
+ = + BxA+C= 2 6
Section 5 Section 6 Section 7 Section 8
Draw two lines of Underline the hundreds If one packet of crisps What unit of measurement
symmetry. and circle the ones. costs 20p, how much would you use to measure the
would five packets weight of an elephant?
893 1308
1926
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Year 2 Spring 2 Maths Activity Mat 5 Answers

Section 1

First 2 answers

3rd question to
balance with

must be equal to 45.

Section 2

A=10,B=4,C=5

B+B+C=| 13

Section 3

Make the largest number
you can using the number
cards. Use each card once.

Section 4

A bus leaves

at

11.30am. Its journey
takes 1 and + hours.

What time does

it

Two lines of
symmetry
drawn.

813 1308
1926

would five
cost?

packets

£1

weight of an elephant?

answers equal to BxC=| 20 arrive?
same number.

BxA+C=| 8 8642 Tpm
Section 5 Section 6 Section 7 Section 8
Draw two lines of Underline the hundreds If one packet of crisps What unit of measurement
symmetry. and circle the ones. costs 20p, how much would you use to measure the

kilograms
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